
ERRATA for the SECOND EDITION

p.9. The Bayes formula (1.2.3) should be P(Hi |A) =
P(A |Hi)P(Hi)

P(A)
=

P(A |Hi)P(Hi)

∑k P(A |Hk)P(Hk)
.

p.134, Exercise 3b. Replace ξ2 with X2.

p.136, Exercise 18c. Replace X with ξ.

p.144, l. 14. Replace x → 0 with x → ∞.

p.241, Exercise 27. The symbols K1,K2,K3 should be replaced by N1,N2,N3.

p.257, 5. The second sentence should be ”This gives (λ(t)δ+o(δ))p(t) = p(t)λ(t)δ+ p(t)o(δ).”

p.475, l. 12. Replace cn by cΨ̃.

p.528, l. 10. Replace 10,000 with 1,000.

p.618, Exercise 11(c). The answer is $82, $396.

p.621, Exercise 14(c) from Chapter 6. There should be γ ∈ [0.059,0.06].

p.623, Exercise 10 from Chapter 8. There should be $5,300,000.
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